CHEM-457: Inorganic Chemistry

Midterm Il - April 17", 2014

NAME. Solukian Set

This exam is comprised of five questions and is 13 pages in length. Please be sure
that you have a complete exam and place your name on each page.

Answer each question to the best of your ability. Partial credit will be awarded
where appropriate. You are not permitted to use any supplemental materials
other than what is included in this test booklet. Calculators are not needed and
their use is not permitted for this exam. PLEASE DO NOT REMOVE ANY PAGES
FROM THIS EXAM EXCEPT FOR THE TWO APENDICIES.

Write all your answers directly in this test booklet and show all work where
necessary.

Good Luck!
1. (12 pts)
2. (20 pts)
3. (10 pts)
4. (24 pts)
5. (34 pts)

Total



Name:

1. (12 Total Points) Please give definitions and an example for each of the following (1 point for
each definition & 1 point for each example).

(a) Arrhenius Acid — Aw HY Dovor 1n Wader (i.e. H-Cl)

(b) ArrheniusBase - An OH™ Dowor 11 Wake (1.6, NaoH)

(e o)

(c) Bronsted-Lowry Acid - Species with abilily L duoke o yt

(i.e. \-,1_(,0))

(d) Brgnsted-Lowry Base - §peo£u1 wiiia qg\l:{? L “M"/”L -~ Ht
(i.e. oHt)

(e) Lewis Acid - A ¢ parn aw‘o;\wr

(i.e. BFy)

(f) LewisBase - A ¢ parn dower

(«'.e. "”"3)
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2. (20 Total Points) Consider the following proton transfer reaction and corresponding protgn
affinities. For this problem, you may assume that entropic factors are negligible such that AG® =

AH = APA,
+
NH3 NH, H
|
N NS
N A
+ —_— +
F F
pKa=4.6 PA =953 kJ/mol PA=899 kd/mol pK;=5.2
aqueous gas phase gas phase aqueous

(a) (3 Points) Is the above reaction spontaneous in aqueous solution? Please explain you
answer.

BPK& b L",(a = 5'2 = -0.6b S\"‘C{ Pk'\ ‘*é P\/Nobnluwa
s 3.-%#( How Hlot 0&&

b bwomn 8 Roetan will

I b0 fl P'B‘A"’, '+ Spon favesws

(b) (3 Points) Is the above reaction complete in aqueous solutions? Please explain you
answer.

Dplta = $6-52 = - 0.4

AFK C rod e fem b echen wd Cw@u‘

(c) (8 Points) Determine the free energy change for the proton transfer in the gas phase. Is
the above reaction spontaneous in the gas phase? Please explain your answer?

¢3
Py + Wiy — Pvt”m D= - PApy = - 953 5 [ ph)

¢ i -
- o —> A ¥ Hiy AW = PAL, = 61 =D pls)

+ +
Aol Py —>fjn, 4 A Mae s -t B [y pk)
A\
L nejq\(-ve, SPW‘VI"‘”"M
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(d) (3 Points) Which of the four species in the acid-base reaction will be best
solvated/stabilized in water? Please explain your answer.

.'AOHL TL( qv\l(w\\uw\ ~ fu ms'} SALLC Spfo\;‘d
)
{_‘ %’Lﬁ,,.g”( g N’\J-«r Sweg ‘4' Cann ,:7%‘031”\'[90‘40(
\H\ wibh  dree Lﬁ"“"h’*B ,,1{ WQ’L(/ wM
. oHL &l lni o an Comn Jn, ~ bowdd w/
b

(e) (3 Points) Do you predict the gas phase proton affinity of N,N-dimethylaniline
(Ph—NMe;) to be larger or smaller than that of aniline? Please explain your answer.

MC\ ,MQ
¥ Shold  have o (r«-y-( PA flown anihet  sSwce A
@ rw.M Gromps I he o Mlj on N_}ﬁj&hﬂ

O T
\MPM).J m W gea pht.
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3. (10 Total Points) The sol-gel synthesis of oxide materials is accomplished using hydrated metal
ions such as that of titanium.

[Ti(OH,)s]** + H,0 — [Ti(OH,)s(OH)]** + H30"

(a) (4 Points) Label each of the four species in the above reaction as either an acid or base.
Please place your labels directly in the boxes below.

Reactants Products

[Ti(OH,)e]*™ H,0 [Ti(OH)s(OH)]** Hs0"

A o Roane Rt ARSWS

(b) (4 Points) Using hard-soft acid base principles, explain whether H,0 or OH will be a
better base toward Ti*".

ow W M bl b bwed T

7" R o« Lquj C/Inm—éui + Small Lewts as/ + will
Pctort boran 4 3'}\*0»3‘/31‘ Lew:s Aod-Bose olobmed w/
© bk lowrs LW, Such an L\\]J;_o,‘dh

(c) (2 Points) Do you expect the equilibrium constant (K) for the above reaction to be
greater than or less than 1.0? Please explain your answer.

Sua 08 will he o betor bose oweed T Al

H,O, 4o eppeckd Md Aﬁwlfbrim will e b
e wghd
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4. (24 total points) Nitric oxide, which has the chemical formula NO, is a gaseous molecule that
functions as a vasodilator in mammals.

(a) (8 Points) Prepare a molecular orbital energy level diagram for NO. Please be sure to
label all atomic orbitals and all molecular orbitals. Please be sure to provide sketches
that clearly show how the atomic orbitals interact to form MOs. (Note: you may find the
table of Atomic Orbital lonization Energies on page 13 of this exam to be useful in
constructing your MO diagram).

Ca SF  Lpe -1p2

20%¥
WPy -2p

13l ev 1 ﬁ._\ J
% P — aex N g% Lo 4 2Px -2an

AV ‘~ o®E&O P + W3

-‘\\\-“ ::'

VY

A 44
Ve - 2P - 15,9 ev

N gg & TPy 2py

o A.V-.\ oo 2Px ¢ 7pv
520y 2o N o¥

— 25 ~32,%3 ev

NO O
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(b) (2 points) How does your diagram illustrate the difference in electronegativity between
N and O?

The afowt o bbdy 06 OXyoym &L lowsr M svagy
v lowse om t chrgram MC%PMJJ—OM

oly by

(c) (4 points) What are the bond order and multiplicity of NO?
5
.1 - = =
Bod Ocdr = L(§_3) = 3 = 2.5 [rph)

\

gO"A)’:} A‘V\\"Lon[l)nj C-

e

N\o]-\x?\:olnj = 2 = Doublet (2 P%)
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(d) (4 Points) NO" and NO™ are also known species. Calculate the bond orders of these
species and compare these values with that of NO. Which of these three species would
you predict to have shortest bond? Please explain your answer.

Road ordsr
—_ e not D N0 Y NO
_M ::: A A v 2V 2.5 )2
Ay L a2
Ay A} i A A R
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ot NO ™

Bm\(l Ocdlsc = ;1(3‘1):3 Rond Ohsc= “‘(‘8"’!) =1

(e) (6 points) The ion NO™ can react with H* to form a chemical bond. Do you expect this

protonation to occur on the oxygen or nitrogen atom of NO™? Do you expect this acid-
base adduct to be linear or bent? Please explain your reasoning.

Tw Homo off NOD ™ HH* wheh 'S Mr(:: ;::‘w/wio
4 \};‘ro L M )
h 1p orbib s o N &“”M . ﬁ,lgw—ol»wa{. e e
A .
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5. (34 Total Points) In this problem, let us consider the bonding for methylene (CH;) using both
the 2s and 2p valence orbitals of C and symmetry adapted linear combinations (SALCs) of H 1s
orbitals as the basis set. The two H-atom SALCs are illustrated below.

Q'—.—O 1SA—1SB

1SA+ 155

(a) (12 Points) Prepare a molecular orbital energy level diagram for CH, in a linear
geometry. Please be sure to label all atomic orbitals, SALCs and molecular orbitals.
Please be sure to provide sketches of the group orbitals and clearly show how they
‘J~ interact with the appropriate orbitals on carbon to form MOs. (Note: you may find the
table of Atomic Orbital lonization Energies on page 13 of this exam to be useful in
P constructing your MO diagram).

a OOO s + &,
20 @O O P + &

* O@O 2s - &,

20 @ c®O pe - D.

(b) (2 Points) What is the bond order of linear methylene? Is this species diamagnetic or
paramagnetic?

Bord ordse = -';‘(‘4'0)'-'?. Mmolends benr 2 uwpvw\b)

em .o wn p«rmm«JMJ\
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(c) (12 Points) Prepare a molecular orbital energy level diagram for CH, in a bent geometry.
The appropriate two H-atom SALCs are illustrated below. Please be sure to label all
atomic orbitals, SALCs and molecular orbitals. Please be sure to provide sketches of the
group orbitals and clearly show how they interact with the appropriate orbitals on
carbon to form MOs. (Note: you may find the table of Atomic Orbital lonization Energies
on page 13 of this exam to be useful in constructing your MO diagram).
t
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(d) (2 Points) What is the bond order of bent methylene? Is this species diamagnetic or
paramagnetic?

RBond Ocdor = S (4-0)>2

Moleads len  ro onpmk:.) e ot g g()—am‘tjvco‘-"t

10
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(e) (6 Points) Based on your MO diagrams for linear and bent methylene, which geometry
of this species do you expect to be more stable? Please explain your answer.

EH,: Qualitative Change to MOs with Varying Bond Angle

g @@@ = G% a, slightly lower energy
on CE® > = b, much higher energy
i

T, —H— $ '68'6 a4 much lower energy

Ty -—@—- = .d_ by still non-bonding: no change

EH,: Walsh Diagram, 90° - 180°
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